FRERHRRETHE FRHR

BRI6EI2H 108 HRIRFEHE 337, 460kg
HER IRFEMEAS 239, 000kg
F&E HRFTHES TR AE AniE FEH Zik B [BREHE HRFcE4E
(kg) (kg) =B H{E ZiE

Bl A 20,000 |&Y 0 — — —
A% ER 3| I ] 10kg 20,000 1,404 —1{ 1,080
ZA LA 20,000 |&Y 0 — — —
X ER 5| jiEE 10kg 20, 000 —| 2,700 —
(< &L 20,000 [tV 0 — — —
A% ER 3| EHE 12kg 20,000 1,296 — 864
FrRY 8,000 |#Y 0 — — —
X ER 5| BER 10kg 8,000 3,024 —1{ 2,160

EFS5SNAZES 6,000 |t Y N 300 g 200 — 130 —
A% ER 3| N 200 g 5, 800 140 — 76

h& 10,000 [&Y 0 — — —
Xt ER 5| N bke 10, 000 —| 2,700 —

25 3,000 |[€Y 0 — — —
A% ER 3| N 100 g 3,000 — 108 —

L& R 10,000 |€Y 0 — — —
Xt ER 5| /37! 10kg 10, 000 —| 6,480 —

EpSY 5,000 |[€Y 0 — — —
A% ER 3| N bkg 5, 000 —| 3,564 —
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FRERHRRETHE FRHR

BRI6EI2H 108 HRIRFEHE 337, 460kg
HX REHEAS 239, 000kg
F&E HRFTHES TR AE AniE FEH Zik B [BREHE HRFcE4E
(kg) (kg) =B H{E ZiE

L AEL 1,000 |[&Y 0 — — —
A% ER 3| N 150 g 1,000 130 — 65
AL & 15,000 [&Y 0 — — —
X ER 5| FHEE bke 15,000/ 2,160 —{ 1,620
ADEET 1,500 |[&Y 0 — — —
Bt ER5| RER 200 g 1,500 — 119 —
J)—2F RINS 0 &Y 0 — — —
X ER 5| 0 — — —
H=—LAX 1,000 |[€Y 0 — — —
A% ER 3| B3] Akg 1,000 3,780 —1| 2,160
I= kv b 3,000 |&Y 0 — — —
Xt ER 5| B 200 g 3,000 — 216 —
Joyay— 2,000 |€Y 0 — — __
A% ER 3| AR 6ke 2,000 —| 4,320 —
PELENE 900 |t 0 — — —
Xt ER 5| BER 4kg 900 —| 4,320 —
PARES 1,000 |[&Y 0 _ __ ___
HAXTE S| HARE 500 g 1,000 — 194 -
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RERFEHE 337, 460kg
HX ERFEEHE S 239, 000kg
T&E BREHE | ZEAE L85 FEH = | B |REHE AR5 £ 5E
(kg) (kg) =iE th{E it
ZDHhFFE 50,000 |&73% — 50, 000 - _ —
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RERFTEHE 337, 460kg
K% RseHEAE 93, 460kg
F&E IRFEMEET | REAE GaiE FEH ik B |BRFEHE ARFEE %8
(kg) (kg) =fE & =il

HIA 62,000 |t&Y 0 _ __ —
HAXTE S| BE IR 10kg 62, 000 -—| 5,184 -—

= 5,000 &Y 0 — — —
HE*TE S| H 50 BEHRE 10kg 9, 000 -—| 6,480 -—

We 2 7,800 [&Y 0 — — —
HAXTE S| N 210 g 7,800 972 540 378

JL—7I71L—Y 500 (€Y 0 — — ——-
FXIERB| P S g 17kg 500 S 7,020 -—

N F 5,000 [tY 0 — — —
HAXTE S| J4JEY 13kg 5,000 3, 888 — 3,240

LEY 500 |[¢Y 0 — — —
HE*TE S| F) 17kg 900 -—| 6,480 -—

& 500 [tV 0 — — —
HAXTE S| EF fa i R 10kg 500 -—| 5,400 -—

A0y 160 |[¢ Y 0 — — —
FXIERB| A Av Y FRE R 9%kg 160 -—| 37,800 -—

AL 1,000 |[#Y 0 — — —
HAXTE S| F—X+5U7 17kg 1,000 -— 9,720 -—
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BRI 337, 460kg
RR RS E A 03, 460kg
Er= REMEH | SEAE S8 TEH =% | Bl |BENE IR 258
(kg) (kg) =iE H{E ZiE

KAV T 9T 1,000 €Y T
AR ARG JLUEY 10ke 1000  —| 4320 «—

94T N— 0 [ey Y
AR ERE | ) I R R—

ZOMEE 10,000 |25% - T I I —
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{AERE S E 337, 460kg
Z Dt REHE AR 5, 000kg
FRE REHEH | =BH% oiE FEH = B |BRENE RS &4
(kg) (kg) =iE H{E ZiE
ZDith 5,000 (&A% - 5,000 —_— —_— —_—




